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for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
T firl eppryRa Ted e :

(a) Write the full form of NSSO.

NSSOF #f¢f 61 o141 |
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(2)

(b) Define primary sector.

(c)

(d)

(e)

(9)

8A/222

AT e ge fia |

Mention the density of population of
India according to 2011 Census.
055 TR CRPRE o SHeq Sesied
7% SCd 391 |

What is poverty gap?

wwer F5 2

State one problem for successful

implementation of ‘MGNREGA’.
MGNREGA? %4 F9[9 Crqo Suq ]
BT ST S 4 |

Mention one negative impact of Green
Revolution of India.

Twwaﬁ%@ﬁmﬁﬁﬂmmw
F41 |

What is minimum support price of
agricultural produce?

qﬁimﬂﬁqﬁmﬁﬁﬂmwﬁaﬁﬂ%?

( Continued ) -

2. Answer the following questions :

(3)

were T eppTgRd Ted fad

(@) Tertiary sector in India employs two

(b)

(c)

(@)

8A[222

different kinds of people. Who are
they?

A CRMEE [REE TEE e IR
ficz | GTRE™ @ ?

Name two beverage crops of India.
SRS A4 AN *PIE A o
Distinguish between medium, small
and micro-enterprises.

e, T W Y Soed e A e
1|

What is sex ratio of population? What
was the sex ratio of India according to

2011 Census? 1+1=2

R o weme 2 0y TR
ERPEE We SRed o SEpre R

wIfee 2
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(4 )

3. Answer any three of the following

questions : 5x3=15

wore il R e ot 2 T fiy

(@) Explain any five features of India’s
national income. 5
ST O A R @R 551 cafizg e
411

(b)

(c)

8A/222

What is meant by  population
explosion? Discuss the impact of
India’s population growth on food

supply and unemployment, 1+4=5
SPRAE [Cg@9 T & 9 SIEIG e (S

BIERINIc] QUM ST @R e/ (ot
A 9 A 347 |

Give the full form of GST. Explain the
possible impact of GST on the small
and microenterprises of India. 1+4=5

GST?"l‘f?ﬁﬂtB‘Tﬁmlwwwaﬂ

ST S/S GSTE (1R o] 25 o
T 4 |

( Continued )

(S)

(d) Distinguish between absolute and
relative poverty. Discuss various
causes of absolute poverty of India.

2+3=5
PR PR o e k[ i B O | e M B
T | SR’ 59 wRweR Rfea IRER

HICEAoAT <4 |

(e) What is Land Reforms? Give a brief
outline of any four important
problems for proper implementation of
Land Reform measures in India. 1+4=5

SE-IER T @7 SRee $R-KER
AEER T TR /@I oo seryd
ST S=ACE @bl 5 e e |

4. Answer any three of the following
questions : 10x3=30

were o R e Tofeit o e foien

(a) Explain the trend and composition of
India’s national income during post-
1990s. Point out the factors
responsible for frequent variations of
India’s national income. 6+4=10
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(b)

(c)

8A/222

(6)

Sp50 R RIS FEIE ST HOW
S 4 SF S5 T 0 T | S[Ad
TR SRR AT A oA AT
ez e

Explain the causes of inequalities in
income in India. How can fiscal policy
be helpful in reducing inequality of
income? Is there any role of recently
implemented demonetization of 500
and ¥ 1,000 currency in reducing
inequalities in income in India? Give
reasons for your answer.
OTOT SR SO FRPTFR A F
IR ISR G C e ol T ik i
@M RRE 23 I ? el e
®[FeT 500 TRl WF 1,000 T 69
@t = ool S| $99 crge
SRR M T 2 (ORI Ba T e
e |

Give an appraisal of the role
of agriculture in the
development of India.
S T e 3R sfivw I
41

economic

( Continued )

6+4=10

10

(7)

(d) Give an overview of the industrial

(e)

8A—5000/222

development strategy in post-reform
period of India.

Sefiaifed HFEI 99Ol FECREE  S[E9]
e T (FHEPTRA SIS IO

L9

Mention the objectives of public
distribution system of India. Explain
the main defects of public distribution
Suggest some

system of India.

remedial measures.

S[qed qErdl [edd JER TrRPTR S
0| qEdl {ot IR I AT
T T | AARDTR T3 FIE A (g
oo T |

Discuss briefly five main problems of
Indian agriculture. Explain three long-
run and two short-run measures to
solve these problems.
SO AT A0 I TP S SACATD
39| @2 TPIPYR HEE R A fofn
RN S o1 ZFFA TEL 1 4 |
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3+4+3=10

5+5=10
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